THE EGYPTIAN STATISTICAL JOURNAL ISSR, Cairo Univ., Vol.(37), No.2, 1993.

RECURRENCE RELATIONS BETWEEN ANY CONTINUOUS FUNCTION OF ORDER
STATISTICS FOR DOUBLY TRUNCATED CONTINUOUS DISTRIBUTIONS AND
11-S APPLICATIONS

MOHIE EL-DIN, M.M. AND SULTAN, K.S.
Faculty of science, Al-Azhar University, Nasr City, Cairo, EMYPT.

#### ABSTRACT

General results for obtaining recurrence relations for doubly truncated continuous distributions, are established, in the single and joint order statistics. We also present two applications. The first application is: recurrence relations between factorial generating functions, the examples considered are exponential, logistic, extreme-value, and Laplace distributions. The second application is: some recurrence relations between reliability and failure rate functions.

#### 1-INTRODUCTION

Khan et al (1983a, 1983b, 1987), obtained general results for obtaining recurrence relations for moments of order statistics from doubly truncated continuous distributions and they derived the single and product moments of order statistics from doubly truncated Burr distribution characterizations. Mohie El-Din et al (1991a,1991b,1992) obtained the single and product moments of order statistics from doubly truncated parabolic. skewed and U-shape distributions, they also characterized the Weibull, Pareto and the power function distributions. They also obtained some results for obtaining recurrence relations between single moment generating functions and between moment generating functions of the sum of two order statistics doubly truncated continuous distributions and presented applications for these results to exponential, logistic, extreme-value and Weibull distributions. In this paper, we derived some general results for obtaining recurrence relations between the expectations of any continuous function in both, single and joint order statistics. We also specialized these results to the factorial generating functions, these results are applied to exponential, logistic, extreme-value, and Laplace distributions. Other applications in life testing are also given.

Let  $X_{1:n} \le X_{2:n} \le \ldots \le X_{n:n}$  be the order statistics from a continuous distribution function (c.d.f) F(x) and probability density function

$$g_{r:n}(x) = g(x_{r:n}),$$
  $1 \le r \le n$ 

any continuous functions of  $X_{r:n}$ 

 $\zeta_{r,s:n}(x,y) = \zeta(x_{r:n},x_{s:n}),$   $1 \le r \le s \le n$ ,  $(X_{r:n} = X,X_{s:n} = Y)$  any continuous functions of  $X_{r:n}$  and  $X_{s:r}$ .

$$\psi_{r:n}(t) = \psi_{x(t)},$$

$$1 \le r \le n$$

[see (1.3)].

$$\psi_{r,s:n}(t_1,t_2) = \psi_{x_{r:n},x_{s:n}}(t_1,t_2), 1 \le r \le s \le n$$
[see (1.6)]

$$R_{r:n}(x) = R(x_{r:n}) \qquad 1 \le r \le n$$

$$h_{r:n}(x) = h(x_{r:n})$$
 1 \le r \le r

then,

$$E(g_{r:n}(x)) = C_{r:n} \int_{-\omega}^{\omega} q(x) [F(x)]^{r-1} [1-F(x)]^{n-r} f(x) dx , \qquad (1.1)$$

where,

$$C_{r:n} = \frac{n!}{(n-r)!(r-1)!}$$
, (1.2)

pulling  $g(x) = t^{x}$  in (1.1) yields,

$$\psi_{r:u}(t) = c_{r:n} \int_{0}^{\infty} t^{x} [F(x)]^{r-1} [1-F(x)]^{n-r} f(x) dx$$
, (1.3)

which, is the factorial generating function in the order statistics [see Palel et.al. (1976)]. Let  $R_{r:n}(x) = 1 - F(x_{r:n})$  denote the reliability (survival) function. Thus, the failure rate function at  $X_{r:n}$  is given by,

$$h_{r:n}(x) = \frac{f(x_{r:n})}{1 - F(x_{r:n})}$$
, [see Nagaraja, (1990)].

Given two integers r and s such that (  $1 \le r \le s \le n$  ), then

$$E(\zeta_{r,s:n}(x,y)) = c_{r,s:n} \int_{-\infty}^{\infty} \int_{x}^{\infty} (x,y) [F(x)]^{r-1} [F(y)-F(x)]^{s-r-1} [1-F(y)]^{n-s} f(x)f(y)dydx, x \le y,$$
 (1.4)

where,

$$C_{r,s:n} = \frac{n!}{(r-1)!(n-s)!(s-r-1)!}.$$
 (1.5)

Pulting  $\zeta(x,y) = t_1^x t_2^y$  in (1.4), yields,

$$\psi_{r,s:n}(t_1,t_2) = c_{r,s:n} \int_{-\infty}^{\infty} \int_{x}^{\infty} t_1^{x} t_2^{y} [F(x)]^{r-1} [F(y)-F(x)]^{s-r-1} [1-F(y)]^{n-s} f(x)f(y) dy dx, x \le y, \qquad (1.6)$$

which is the joint factorial generating function in the order statistics.

. The doubly truncated p.d.f  $f_t(x)$  at  $Q_1$  and  $P_1$ , where  $Q_1 \le P_1$  is,

$$f_{t}(x) = -\frac{f(x)}{p}\frac{1}{\sqrt{2}}$$
,  $Q_{1} \le x \le P_{1}$ , (1.7)

where,  $F(Q_1) = Q$  and  $F(P_1) = P$  [ see Mood et al (1974) ].

Remark: Truncation can be utilized to form other families of distributions.

## 2 - Recurrence relations between the expected values for any continuous function of order statistics.

 For doubly truncated continuous distributions, the equation (1.1) takes the form,

$$E(g_{r:n}(x)) = C_{r:n} \int_{Q_1}^{P_1} g(x) [F_t(x)]^{r-1} [1-F_t(x)]^{n-r} f_t(x) dx$$
 (2.1)

where,  $f_{t}(.)$  is given by (1.7) and  $F_{t}(.)$  is the corresponding c.d.f.

#### Theorem (2.1)

For any arbitrary continuous distribution and for any continuous function  $g_{r:n}(x)$ ,  $2 \le r \le n$ ,  $Q_1 \le X_{r:n} \le P_1$ , we have,

$$E(g_{r:n}(x)) - E(g_{r-1:n-1}(x)) = \frac{c_{r:n}}{n} \int_{Q_1}^{P_1} [F_t(x)]^{r-1} [1-F_t(x)]^{n-r+1} dg(x), \quad (2.2)$$
where,  $C_{r:n}$  is given by  $(1.2)$ .

Proof: From (2.1), one can see that,

$$\mathbb{E}(q_{r:n}(x)) - \mathbb{E}(g_{r-1:n-1}(x)) = \frac{c_{r:n}}{n} \int_{\Omega_1}^{P_1} g(x) [F_t(x)]^{r-2} [1 - F_t(x)]^{n-r} \\ [nF_t(x) - (r-1)] f_t(x) dx, \tag{2.3}$$

let 
$$\tau(x) = -[F_{+}(x)]^{r-1}[1-F_{+}(x)]^{n-r+1}$$
, (2.4)

hence 
$$dt(x) = [F_t(x)]^{r-2} [1-F_t(x)]^{n-r} [nF_t(x) - (r-1)] f_t(x) dx,$$
 (2.5)

form (2.3) and (2.5) we get,

$$E(q_{r:n}(x)) - E(g_{r-1:n-1}(x)) = \frac{c_{r:n}}{n} \int_{Q_1}^{P_1} g(x) dr(x).$$
 (2.6)

Integrating by parts we get,

$$\int_{\Omega_1}^{P_1} g(x) d\tau(x) = g(x)\tau(x) \Big|_{\Omega_1}^{P_1} - \int_{\Omega_1}^{P_1} \tau(x) dg(x) = -\int_{\Omega_1}^{P_1} \tau(x) dg(x), \qquad (2.7)$$
form (2.4), (2.6) and (2.7), the proof is complete.

Remarks: 1- putting  $g(x) = \exp(tx)$  in (2.2), yields the results by Mohie El-Din et.al.(1992).

- 2. putting  $g(x) = x^k$  in (2.2), yields the results by Khan el.al. (1983a).
- (II) For doubly truncated continuous distributions, the equation (1.4) takes the form,

$$\mathbb{E}(\zeta_{r,s:n}(x,y)) = C_{r,s:n} \int_{\Omega_{1}}^{P_{1}} \int_{x}^{P_{1}} (x,y) \left[ F_{t}(x) \right]^{r-1} \left[ F_{t}(y) - F_{t}(x) \right]^{s-r-1} \left[ 1 - F_{t}(y) \right]^{n-s} f_{t}(x) f_{t}(y) dy dx, \ x \le y, \tag{2.8}$$

# Theorem (2.2)

For any arbitrary continuous distribution and for any continuous function  $\zeta(X,Y)$ ,  $1\leq r\leq s\leq n-1$ ,  $Q_1\leq x\leq y\leq P_1$ , we have,

$$E(\zeta_{r,s:n}(x,y)) - E(\zeta_{r,s-1:n}(x,y)) = \frac{C_{r,s:n}}{n-s+1} \int_{Q_1}^{P_1} \int_{X}^{P_1} [F_t(x)]^{r-1} [F_t(y)]^{r-1} [1-F_t(y)]^{n-s+1} f_t(x) d\zeta_x(x,y) dx, \qquad (2.9)$$

where ,  $C_{r,sin}$  is given by (1.5) and  $d\xi_{x}(x,y)$  means that the differentiation is with respect to y.

# Proof:

From (2.8), one can see that,

$$F(\zeta_{r,s:n}(x,y)) - E(\zeta_{r,s-1:n}(x,y)) = \frac{C_{r,s:n}}{n-s+1} \int_{Q_1}^{P_1} \zeta(x,y) [F_t(x)]^{r-1} \\ [F_t(y)-F_t(x)]^{s-r-2} [1-F_t(y)]^{n-s} [(n-r)F_t(y)-(n-s+1)F_t(x)-(s-r-1)] \\ f_t(x)f_t(y)dydx, \qquad (2.10)$$

$$1et \ Z(x,y) = -[F_t(y)-F_t(x)]^{s-r-1} [1-F_t(y)]^{n-s+1}, \qquad (2.11)$$

then,

$$d_{\chi}(x,y) = [F_{t}(y) - F_{t}(x)]^{s-r-2} [1 - F_{t}(y)]^{n-s}$$

$$[(n-r)F_{t}(y) - (s-r-1) - (n-s+1)F_{t}(x)]f_{t}(y)dy. (2.12)$$

From (2.10) and (2.12) we get

$$E(\zeta_{r,s:n}(x,y))-E(\zeta_{r,s-1:n}(x,y)) = \frac{c_{r,s:n}}{n-s+1} \int_{Q_1}^{P_1} [F_t(x)]^{r-1} [\int_{x}^{P_1} \zeta(x,y) d\tilde{z}_x(x,y)] f_t(x) dx.$$
 (2.13)

Integrating by parts yields,

$$\int_{x}^{P_{1}} \zeta(x,y) dZ_{1}(x,y) = -\int_{x}^{P_{1}} Z(x,y) d\zeta_{x}(x,y), \qquad (2.14)$$

From (2.11), (2.13) and (2.14), the proof is complete.

Remarks: 1- Putting  $\zeta(x,y) = \exp(t(x+y))$  in (2.9), yields the results of Mohie EL-Din et. al. (1992).

- 2. Putting  $\zeta(x,y)=X^{j}Y^{k}$  in (2.9), yields the results of Khan el. al. (1983b).
- 3 Application (I): Recurrence relations between factorial generating functions.

The results in (2.2) and (2.9) can be specialized to \*factorial generating functions as follows,

## Proposition (3.1):

For any continuous distribution function,  $2 \le r \le n$ ,  $Q_1 \le x_r \le P_1$ , the factorial generating function  $\psi_{r+n}(t)$  satisfy,

$$\psi_{r:n}(t) - \psi_{r-1:n-1}(t) = \frac{c_{r:n}}{n} \left( \ln(t) \right) \int_{Q_1}^{P_1} t^{x} [F_t(x)]^{r-1} [1 - F_t(x)]^{n-r+1} dx, \quad (3.1)$$

Proof: Putting  $g(x) = t^{X}$  in theorem (2.1), we get the result.

### Proposition (3.2):

For any continuous distribution function,  $1 \le r \le s \le n$ ,  $Q_1 \le \kappa_r \le P_1$ , the factorial generating function  $\psi_{r,s:n}(t_1,t_2)$  satisfy,

$$\begin{split} & \psi_{r,s:n}(t_1,t_2) - \psi_{r,s-1:n}(t_1,t_2) = \frac{c_{r,s:n}}{n-s+1} \left(\ln(t_2)\right) \int_{Q_1}^{P_1} \int_{X}^{P_1} t_1^x t_2^y \left[\mathbb{F}_{t}(x)\right]^{r-1} \\ & \left[\mathbb{F}_{t}(y) - \mathbb{F}_{t}(x)\right]^{s-r-1} \left[1 - \mathbb{F}_{t}(y)\right]^{n-s+1} \mathbb{F}_{t}(x) \mathrm{d}y \mathrm{d}x, \end{split} \tag{3.2}$$

Proof: Putting  $\zeta(x,y) = t_1^x t_2^y$  in theorem (2.2), we get the result. Letting  $t_1 = t_2 = t$  in (3.2), yields the recurrence relations between the factorial generating function of the sum of two order statistics.

## Proposition (3.3):

For any continuous distribution function, the factorial generating function  $\psi_{r:n}(t)$ , satisfies

$$r_{r+1:n}(t) = n_{r:n-1}(t) - (n-r)_{r:n}(t),$$
 (3.3)

Proof: Since for 
$$1 \le r \le n$$

$$rE[B(x_{r+1:n})] = nE[B(x_{r:n-1})] - (n-r)E[B(x_{r:n})],$$
[see Patel et.al.(1976)],

putting  $B(x)=t^{X}$  in (3.4), then the proof is complete.

In the following some examples are presented.

Example(3.1): Doubly truncated exponential distribution.

The p.d.f of doubly truncated exponential distribution is,

$$f_{t}(x) = \frac{e^{-x/\Theta}}{\Theta(P-Q)}, \qquad Q_{1} \le x \le P_{1}, \quad \Theta > 0,$$
 (3.5)

where,  $1-P = e^{-1}1^{/\Theta}$  and  $1-Q = e^{-Q}1^{/\Theta}$ .

Let 
$$P_2 = \frac{1-\gamma}{(P-Q)}$$
 and  $Q_2 = \frac{1-Q}{(P-Q)}$ ,  $1+P_2 = Q_2$ , then

$$1 \cdot F_{t}(x) = -P_{2} + o f_{t}(x).$$
 (3.6)

First, we derive a recurrence relation for  $\psi_{r:n}(t)$ .

From (3.1) and using (3.6), one can see that,

$$(1 - \frac{0 \ln(t)}{n})\psi_{r:n}(t) = \frac{-r_2(n-1)}{(n-r)} \left[\psi_{r:n-1}(t) - \psi_{r-1:n-2}(t)\right] + \psi_{r-1:n-1}(t),$$

$$n \leq 0 \ln(t). (3.7)$$

Using (3.3) in (3.7), we get,

$$(1 - \frac{\Theta \ln(t)}{n})\psi_{r:n}(t) = -P_2\psi_{r:n-1}(t) + Q_2\psi_{r-1:n-1}(t), \quad n \neq \Theta \ln(t). \quad (3.8)$$

Next, we obtain a recurrence relation for  $\psi_{r,s,n}(t_1,t_2)$ .

From (3.6), we have,

1- 
$$\mathcal{F}_t(y) = -p_2 + of_t(y)$$
 and substituting with it in (3.2), one can see that,

$$[1 - \frac{\circ \ln(\mathsf{t}_2)}{\mathsf{n} - \mathsf{s} + 1}] \psi_{\mathsf{r}, \mathsf{s} + \mathsf{n}}(\mathsf{t}_1, \mathsf{t}_2) = \psi_{\mathsf{r}, \mathsf{s} - 1 + \mathsf{n}}(\mathsf{t}_1, \mathsf{t}_2) - \frac{\mathsf{n} \mathsf{P}_2}{\mathsf{n} - \mathsf{s} + 1} [\psi_{\mathsf{r}, \mathsf{s} + \mathsf{n} - 1}(\mathsf{t}_1, \mathsf{t}_2) + \psi_{\mathsf{r}, \mathsf{s} - 1 + \mathsf{n} - 1}(\mathsf{t}_1, \mathsf{t}_2)], \quad \theta \quad \ln(\mathsf{t}_2) \neq \mathsf{n} - \mathsf{s} + 1,$$

$$1 \leq \mathsf{r} \leq \mathsf{s} \leq \mathsf{n} - 1. \quad (3.9)$$

Example (3.2): Doubly truncated logistic distribution.

The p.d.f of doubly truncated logistic distribution is

$$f_{t}(x) = \frac{e^{-(x \cdot \alpha)/\beta}}{\beta(Y-9) \left[1 + e^{-(x-\alpha)/\beta}\right]^{2}}, \quad Q_{1} \le x \le P_{1}, -\infty < \alpha < \infty, \beta > 0, \quad (3.10)$$

where, 
$$\frac{1}{P} - 1 = e^{-(p_1 - \alpha)/\beta}$$
 and  $\frac{1}{Q} - 1 = e^{-(Q_1 - \alpha)/\beta}$ .

Let 
$$P_2 = \frac{P}{P-Q}$$
 and  $Q_2 = \frac{Q}{P-Q}$ ,

from (3.10), we have

$$1 - F_{t}(x) = P_{2} - \beta e^{(x-\alpha)/\beta} f_{t}(x) - \beta f_{t}(x).$$
 (3.11)

First, we obtain a recurrence relation for  $\psi_{r:n}(t)$ .

Using (3.11) and (3.3) in (3.1), one can see that,

$$(14 \frac{\beta \ln(t)}{n}) \psi_{r:n}(t) = P_2 \psi_{r:n-1}(t) - Q_2 \psi_{r-1:n-1}(t) - \frac{\beta e^{-\alpha/\beta} \ln(t)}{n} \psi_{r:n}(te^{1/\beta}), \quad 1 \le r \le n-1.$$
 (3.12)

Next, we obtain the recurrence relation for  $\psi_{r:s:n}(t_1,t_2)$ . From (3.11), we get

$$1 - F_{+}(y) = P_{2} - \beta e^{(Y - \alpha)/\beta} f_{+}(y) - \beta f_{+}(y), \qquad (3.13)$$

From (3.2) and (3.13), one can see that.

$$[14 \frac{\beta \ln(t_2)}{n + n + 1}] \psi_{r,s:n}(t_1, t_2) = \frac{nP_2}{n - s + 1} [\psi_{r,s:n-1}(t_1, t_2) - \psi_{r,s-1:n-1}(t_1, t_2)]$$

$$= \frac{\beta e^{-\alpha/\beta} \ln(t_2)}{n + s + 1} \psi_{r,s:n}(t_1, t_2 e^{1/\beta}), 1 \le r \le s \le n - 1. \quad (3.14)$$

Example (3.3): Doubly truncated extreme-value distribution.

The p.d.f of doubly truncated extreme-value distribution is,

$$f_{t}(x) = \frac{ExP(-x-e^{-x})}{P-Q}$$
,  $Q_{1} \le x \le P_{1}$ , (3.15)

where,  $P = EXP(-e^{-1})$  and  $Q = EXP(-e^{-1})$ .

Let  $P_2 = \frac{P}{P-Q}$  and  $Q_2 = \frac{Q}{P-Q}$ , then by (3.15), we have

$$1 \cdot F_{t}(x) = P_{2} - e^{x} f_{t}(x).$$
 (3.16)

First, we obtain a recurrence relation for  $\psi_{r,n}(t)$ .

Using (3.16) and (3.3) in (3.1), yields,

$$\psi_{r:n}(t) + \frac{\ln(t)}{n} \psi_{r:n}(te) = P_2 \psi_{r:n-1}(t) - Q_2 \psi_{r-1:n-1}(t).$$
 (3.17)

Next, we obtain a recurrence relation for  $\psi_{r,s;n}(t_1,t_2)$ .

From (3.16) we have, 
$$1 - F_t(y) = P_2 - e^y f_t(y)$$
. (3.16)

It follows from (3.18) and (3.2), that

$$\psi_{r,s:n}(t_1,t_2) = \psi_{r,s-1:n}(t_1,t_2) + \frac{n!^2}{n-s+1} \left[ \psi_{r,s:n-1}(t_1,t_2) - \psi_{r,s-1:n-1}(t_1,t_2) - \frac{\ln(t_2)}{n\cdot s+1} \right] \psi_{r,s:n}(t_1,t_2) - \psi_{r,s-1:n-1}(t_1,t_2)$$
(3.19)

Example (3.4): Doubly truncated Laplace distribution.

The p.d.f of doubly truncated Laplace distribution is,

$$f_{t}(x) = \frac{e^{-\frac{|x \cdot \alpha|}{\beta}}}{2\beta(P-Q)}, \quad Q_{1} \leq x \leq P_{1}$$
where,
$$P = \begin{cases} 1 - \frac{1}{2} e^{-(P_{1}-\alpha)/\beta}, & P_{1} > \alpha \\ -\frac{1}{2} e^{(P_{1}-\alpha)/\beta}, & P_{1} \leq \alpha \end{cases}$$
and
$$Q = \begin{cases} 1 - \frac{1}{2} e^{-(Q_{1}-\alpha)/\beta}, & Q_{1} > \alpha \\ -\frac{1}{2} e^{(Q_{1}-\alpha)/\beta}, & Q_{1} \leq \alpha \end{cases}$$

$$Let P_{2} = \frac{P}{P-Q}, \quad Q_{2} = \frac{Q}{P-Q}, \quad P_{3} = \frac{P-1}{P-Q} \text{ and } Q_{3} = \frac{Q-1}{P-Q}.$$

From (3.20), we have

$$1 - F_{t}(x) = \begin{cases} \int_{x}^{1} \frac{e^{(x-\alpha)/\beta}}{2\beta(P-Q)} dx & x \leq \alpha \\ \\ \int_{x}^{1} \frac{e^{-(x-\alpha)/\beta}}{2\beta(P-Q)} dx, & x > \alpha \end{cases}$$

$$= \begin{cases} P_{2} - \beta f_{t}(x) & , & x \leq \alpha \\ \\ P_{3} + \beta f_{t}(x) & , & x > \alpha. \end{cases}$$
(3.21)

First, we derive a recurrence relation for  $\psi_{r:n}(t)$ , Using (3.21) and (3.3) in (3.1), one can see that,

$$\begin{aligned} &(1+\frac{\beta \ln(t)}{n})\psi_{r:n}(t) = P_2 \psi_{r:n-1}(t) - Q_2 \psi_{r-1,n-1}(t), & x \leq \alpha \\ & \text{and} & \\ &(1-\frac{\beta \ln(t)}{n})\psi_{r:n}(t) = P_3 \psi_{r:n-1}(t) - Q_3 \psi_{r-1,n-1}(t), & n \neq \beta \ln(t), & x > \alpha. \end{aligned}$$

Next, we obtain a recurrence relation for  $\psi_{r,s:n}(t_1,t_2)$ . From (3.21), we can write,

$$1 - F_{\xi}(y) = \begin{cases} P_2 - \beta f_{\xi}(y) & , & x \leq \alpha \\ \\ P_3 + \beta f_{\xi}(y) & , & x > \alpha. \end{cases}$$
 (3.23)

From (3.23) and (3.2), one can see that,

$$(1+\frac{\beta \ln(t_2)}{\ln - \kappa + 1})\psi_{r,s:n}(t_1,t_2) = \psi_{r,s-1,n}(t_1,t_2) + \frac{np_2}{\ln - \kappa + 1} \left[\psi_{r,s:n-1}(t_1,t_2) - \psi_{r,s-1:n-1}(t_1,t_2)\right], \quad x \le \alpha$$
and
$$(1-\frac{\beta \ln(t_2)}{\ln - \kappa + 1})\psi_{r,s:n}(t_1,t_2) = \psi_{r,s-1,n}(t_1,t_2) + \frac{np_3}{\ln - \kappa + 1} \left[\psi_{r,s:n-1}(t_1,t_2) - \psi_{r,s-1:n-1}(t_1,t_2)\right],$$

$$\beta \ln(t_2) \approx n-s+1, \quad x > \alpha.$$

4- Application (II): Recurrence relations in life testing.

#### Theorem (4.1)

For any arbitrary continuous distribution, the reliability function  $\mathbf{R}_{\mathrm{rel}}(\mathbf{x})$ , satisfies,

$$E(k_{r:n}(x)) - E(R_{r-1:n-1}(x)) = \frac{-(n-r+1)}{n(n+1)}, \ 0 \le x_r \le 1, \ 2 \le r \le n.$$

Proof:

Putting  $g(x)=R(x)=1-F_{t}(x)$ ,  $Q_{1}=0$  and  $P_{1}=1$  in theorem (2.1), we have,

$$E(F_{r:n}(x)) - E(F_{r-1:n-1}(x)) = \frac{-C_{r:n}}{n} \cdot \int_{0}^{1} [F_{t}(x)]^{r-1} [1-F_{t}(x)]^{n-r+1} d(1-F_{t}(x))$$

$$= \frac{-C_{r:n}}{n} \cdot \beta(r, n-r+2), \qquad (4.1)$$

from (1.2) and (4.1), the proof is complete.

## Theorem (4.2)

For any arbitrary continuous distribution, the failure rate function  $\mathbf{h}_{\text{rin}}(\mathbf{x})$  , satisfies,

$$(\text{in 1})\mathbb{E}(h_{r:n}(x)) - n\mathbb{E}(h_{r-1:n-1}(x)) = \frac{n(n-1)}{(n-r)} [\mathbb{E}[f_{\xi}(x_{r:n-1})] - \mathbb{E}[f_{\xi}(x_{r-1:n-2})],$$

$$0 \le x_r \le 1 \text{ and } 2 \le r \le n,$$

$$(4.2)$$

Proof:

Putting 
$$g(x) = h(x) = \frac{f_{\xi}(x)}{1 \cdot F_{\xi}(x)}$$
,  $Q_1 = 0$  and  $P_1 = 1$  in theorem (2.1), we have,

$$\begin{split} \mathsf{E}(\mathsf{h}_{r:n}(\mathsf{x})) &- \mathsf{E}(\mathsf{h}_{r-1:n-1}(\mathsf{x})) &= \frac{\mathsf{C}_{r:n}}{\mathsf{n}} \int_0^1 [\mathsf{F}_\mathsf{t}(\mathsf{x})]^{r-1} [1 - \mathsf{F}_\mathsf{t}(\mathsf{x})]^{n-r+1} d\mathsf{h}(\mathsf{x}), \\ \mathsf{but}, \ d\mathsf{h}(\mathsf{x}) &= (1 - \mathsf{F}_\mathsf{t}(\mathsf{x}))^{-1} \ d\mathsf{f}_\mathsf{t}(\mathsf{x}) + \mathsf{h}(\mathsf{x}) \mathsf{f}_\mathsf{t}(\mathsf{x}) (1 - \mathsf{F}_\mathsf{t}(\mathsf{x}))^{-1} \ d\mathsf{x}, \ \mathsf{then}, \\ \mathsf{E}(\mathsf{h}_{r:n}(\mathsf{x})) &- \mathsf{E}(\mathsf{h}_{r-1:n-1}(\mathsf{x})) &= \frac{\mathsf{C}_{r:n}}{\mathsf{n}} \int_0^1 [\mathsf{F}_\mathsf{t}(\mathsf{x})]^{r-1} [1 - \mathsf{F}_\mathsf{t}(\mathsf{x})]^{n-r} d\mathsf{f}_\mathsf{t}(\mathsf{x}), \\ &+ \frac{\mathsf{C}_{r:n}}{\mathsf{n}} \int_0^1 \mathsf{h}(\mathsf{x}) \{\mathsf{F}_\mathsf{t}(\mathsf{x})\}^{r-1} [1 - \mathsf{F}_\mathsf{t}(\mathsf{x})]^{n-r} \mathsf{f}_\mathsf{t}(\mathsf{x}) d\mathsf{x}. \end{split}$$
 Hence,

$$(\mathsf{n}-1)\mathsf{E}(\mathsf{h}_{\mathsf{r}:\,\mathsf{n}}(\mathsf{x})) \,-\, \mathsf{n}\mathsf{E}(\mathsf{h}_{\mathsf{r}-1:\,\mathsf{n}-1}(\mathsf{x})) \,=\, \frac{\mathsf{n}(\mathsf{n}-1)}{(\mathsf{n}-\mathsf{r})} [\mathsf{E}\{\mathsf{f}_{\mathsf{t}}(\mathsf{x}_{\mathsf{r}:\,\mathsf{n}-1})\} \,-\, \mathsf{E}[\mathsf{f}_{\mathsf{t}}(\mathsf{x}_{\mathsf{r}-1:\,\mathsf{n}-2})] \,.$$

# REFERENCES

- Khan, A.H., Khan, I.A. (1987). Moments of order statistics from Burr distribution and its characterizations. Metron, 45, 21-29.
- Khan, A.II., Yaqub, M. and Parvez, S. (1983a). Recurrence relations between moments of order statistics. Naval Res. Logist. Quart. 30, 419-441.
- Khan, A.H., Parvez, S. and Yaqub, M. (1983b). Recurrence relation between product moments of order statistics. J. Statist. Plan. Infer. 8, 175-183.
- Mood, A.M., Graybill, F.A. and Boes, D.C. (1974). Introduction to the theory of statistics. McGraw-Hill, New York
- Mohle EL-Din, M.M., Mahmoud, M.A.W. and Abu-Youssef, S.E. (1991a). Moments of order statistics from parabolic and skewed distributions and characterization of weibull distribution. Commun. Statist. Simul. Comput., 20(2,3), 639-645.
- Mohie EL-Din, M.M., Mahmoud, M.A.W. and Abu-Youssef, S.E. (1991b). Moments of order statistics from U-shape distribution and characterization of pareto distribution and power function. The 16 th Annual Conference, I.S.S.R., Cairo University, Vol. 16, 120-130.
- Mohie EL-Din, M.M., Mahmoud, M.A.W. and Abu-Youssef, S.E. Recurrence relations between moment generating function of order statistics from doubly truncated continuous distributions. The Egyptian Statistical Journal, Vol. 36, no. 1, 82-94.
- Nagaraja, H.N. (1990). Some Reliability properties of order statistics. Commun. Statist.-Theory Meth., 19(1), 307-316.
- Patel, J.K., Kapadia, C.H. and Owen, D.B. (1976). Handbook of Statistical distribution, Harcel Dekker, Inc, New York and Basel.